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5.3 Graphing from Vertex Form
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Example 2: Identify the vertex then graph each parabola
b) y=x*+4 .
. c) y=(x—-2)2

a) y = x2
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<fx-intercept(s): (-3,0), (-5,0)
y-intercept: (_O/ \6)

‘3,15 of Symmetry: x = -H
Vertex: (— - \3
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Max@/alue: -

Domain: (_-— 00/ 60)

Range:E " do>

Increasing: (- l’i,, 00)

Decreasing: (- 6d, - L})
Positive: (—60, —6)U(~ 3, ao)

Negative: (—'5‘ -~7‘>)

End behavior;

(
):

x-intercept(s): —
y-intercept:

Axis of Symmetry:
Vertex: ( i, - \3
Max/min value:
Domain:

Range:
Increasing:
Decreasing:
Positive: NOA.Q,
Negative: (:—-fo)‘;o)

End behavior:

As > ~x, y=> &
/‘\f) r=> OUl 7—7 o0

PR A \’uF | a2 \(-2)=z -2
3423 owr\, vpd 2a:30-2) = -6
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X-i ntercept(s);
y-intercept:

Axis of Symmetry:
Vertex: (—V\l - \\
Max/min value:
Domain:

Range:
Increasing:
Decreasing:
Positive:
Negative:

End behavior:

\k= \(‘5\: ~ S
3o 7)(‘6) = ~-q



